
Lecture 12
Cost

In common usage the monetary
value of inputs used in production

of goods and services is caned
cost
In basic economic sense cost is
measure of alternative opportunities

foregone in the choice of one good over
the otter

opportunist
what the producer gives up to

use resources to produce goods or

services It is the cost of heat best
alternative given up
In business two types of resources

are used
I Market supplied resources
2 owner supplied resources

Euplicet Cost The opportunity cost of
market supplied resources is the

monetary payments made to the owners
of these resources This is called
eup licit cost



Implicit cost The non monetary
opportunity costs of using the owner

supplied resources are called Emplecit
cost
Total economic cost Euplicit cost

Implicit Cost
Other types of coots

F Ined Cost The costs which don't vary
with change in output
Variable cost costs which depend on

the output produced
Total cost CTC Fixed cost

variable cost
SUNK Cost costs which have been

Incurred but can't be recovered

Economic Profit Vs Accounting Profit

Economic Profit TR Total Economic cost
TR Euplicit cost Implicit Cost

Accounting Profit TR Enplicit cost
Accounting profit 7 Economic profit



Short run Cost
The cost of inputs used in the short
run production is called short run cost
In the short run

Q fce.IS
I 7 variable input
k 3 Fined input

SoTC Total Fined Cost CTF Total variable cost
tc w.lt i at CTV

Average cost CA Tcl Q
TFctTVc IQ

AC AF Ct AVC
MC OTC.de

Let us now look at the short run
cost schedule in order to understand
the relation between TC Act MC
Or TFCCE TVCCE TCCE AGT AMC 01 409
O 6,000 O 6,000
100 6,000 41000 10,000 100 40
200 6,000 6,000 121000 60 20
300 6,00091000 151000 50 30
400 6,000 14,000 20,000 50 50
500 6,000 22,000 28,000 56 80
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Why the short run average cost
curve is v shaped
Reasons
Graphical
Logical



Graphical reason
AC AFC Avc

Up to 004 level of output both AFC and
AVL fall and hence AC we'll also
fall
After Odi Arc is rising and AFC
is still falling
The Reese is Arc in the rate of fall ein
AFC and hence between 00.240 Qi
SAC Is falling
After 0 Qs the rate of rise in Arc
is 7 the rate of fall in AFC 4
hence SAL starts rising
This is how SAC curve becomes
U shaped
Logical reasoning

AC Tcl Q
In the short nun T P CQ curve

initially rises so Ae falls when
TP Is maximum AC is minum
and in stage III TP falls ibis
causes AC to rise Hence SAC curve
becomes U shaped



Relation between MC AC
MC intersects AC from below
When

MC L AC AC will fall
MC AC AC will Rise

Me we'll intersect AC at Et's minimum
point SMC

cost

o e I
Pro of
Mc Off D d Act QffIfJoe
MC will change according to the slope
Of AC i e DAI

da

Relation between short reeen
costs and production



TVC To I w 2 Is the wage of the
TFC I K labour 4 Hods is the

TC TFC TVC variable cost in the
short teen

SMC d df TFC Is constant

ORS MC d CTU 2
Ta

at ft MPE off
SMC WMPe
similarly
SAVE Short recen average cost

SA VC wad W La
g Ape

Thus save I
A Pe

In the short run production of
cost are inversely related

NPaohr


